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CHERKR/M)
=9 R e A SEALE &3 RIEE | RIELSE
131|f 5 i s 1 B |rrTaser mEE g 108,800 — —
132|7 7T LT — 20 R R () 48 1L S 45,600 AU (BR) A8 L1 27 49,600
133[RV 7 e’ L R —h— O 2 B [EREE bk 48 1L 37 2,000 HI B () 188 L1 5 2,120
RY7aEL s R —— @ 1 I NS A e 370 KR St (1) A6 L1 S 470
134|F- A7 73— F AT AU 1 A [ EF () 48 1L 3 8,100 — —
A IR ERR 2 B [EERE () 48 L ST 22,800 — —
1578 2 FIR A AR HEIROKE -2 1 FE O |EE G (k) R Lo ST 33,500 — —
667 AR O AR YK E - 1-2 1 R REFE R R ILE 2T 64,200 — —
135(>7mm 2425000 2 A | HBRPEZE (BR) 18,000 — —
PR IR A TRtk (VOC /o HT ) 2 | RBRE S (BR) 24,000 - —
136> 7 AL A A L HEHER 1 A |FRBRE ¥ (BR) 10,630 - -
137 (A 4R 32 R K AL RS 2 oK) T —RAUA T 26,600 — —
138> v =—FK (HEIEL) 82 (iU — — —
41| AKEA—H—H % O 400 B /BT (BR) 12,000 - -
KIEA—=Z—H/ % @ 100 B /BT (BR) 3,000 - -
KIBA—=EZ—T 3% Q) 1,000 | #r  |/NETEE (BK) 30,000 — —
KIEA—=H—H/ ¥ @ 300 (O N =N () 9,000 — —
KIEA—=Z—H % B 200 Be /e T () 15,000 — —
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=9 2% W | B | EAE &4 RIBHE | RIEGSE
KEA—=F—H % © 50 o hETEHEER) 16,500 - -
KBA—=Z—H % @ 50 o hETHEER) 21,750 - -
AKEA—S— 3% 50 o M TR 22,750 - -
KEA—=Z—H "% @ 20 Ho BT (RR) 11,600 - -
142|h =B — v 1 & |(BR) 7O AT LR 17,500 T 5T 30K (BK) 18,000
1437 —7" =R O 10 8 |7 h LT3k (F) 6,520 - -

T—=7 =R @ 20 & [T 7 30k (BR) 20,000 - -
F—TH—= @ 10 il [Fh 27 3Tk (BR) 13,450 — —




